|AD,
v

v . .
& z Fraser gazebo - Assembly instructions

Freestanding gazebo in synthetic wood
with bar counter

] ) Available in
Assembly instructions for: B Coffee

¢ (Gazebo ¢ Bar counter I Charcoal

ﬁ.r--f

o w.-Ww canadlanspacompany com




Dl
«
T

>

N
@)

)
e
(=)
—
Q
-
P S
e
(72
=
=
22
S
D
7))
7))
<

|
o
=2
D
N
1°]
(=)
p
D
7p)
(1"
S
LL.
N

Freestanding gazebo




)
e
(=)
—
Q
-
P S
e
(72
=
=
22
S
D
7))
7))
<

|
o
=2
D
N
1°]
(=)
p
D
7p)
(1"
S
LL.
N

>

2.1.

Roof & walls

<\AD,

N
@)




|AD,
v

v . .
& z Fraser gazebo - Assembly instructions

Wall structure

3.1.Corner

3.2.Blind window

3.3.Wall

3.4.Lintel




Dl
«
T

)
e
(=)
—
Q
-
P S
e
(72
=
=
22
S
D
7))
7))
<

|
o
=2
D
N
1°]
(=)
p
D
7p)
(1"
S
LL.
N

>

N
@)

Roof details

4.1.Skylight

4.2.Roof Cap

4.3.Roof Tile

4.4.Roof Tile

4.5.Roof Support frame




sAD,
N

v . .
& z Fraser gazebo - Assembly instructions

Roof details - exploded view
4.5-1

<>

4.5-2.

4.5-3.

4.5-4.

4.5-5.




|AD,
v

v . .
& z Fraser gazebo - Assembly instructions

Lintel connection

M8*45 4pcs



sAD,
v

v . .
© z Fraser gazebo - Assembly instructions

Side wall panel(s) connection

M8*45 10pcs



|AD,
v

v . .
& z Fraser gazebo - Assembly instructions

Louvered window corner(s) connection

M8*45

M8*45 10pcs



|AD,
v

v . .
& z Fraser gazebo - Assembly instructions

Bar counter connection

M8*45 10pcs



|AD,
V

v . .
© z Fraser gazebo - Assembly instructions

Fixing the roof tiles

10



|AD,
X

v . .
& z Fraser gazebo - Assembly instructions

Roof frame connection

1



|AD,
X

v . .
& z Fraser gazebo - Assembly instructions

Bar counter construction

6.1.

12



sAD,
N

v . .
& z Fraser gazebo - Assembly instructions

Bar counter assembly

M8*45

M8*45

/ M5*45
[/
S~

M5*45

13



sAD,
v

v . .
& z Fraser gazebo - Assembly instructions

Wall structure - parts

¥ g

3.1 Corner window 3.2 Louvred (blind) window 3.3 Wall 3.4 Lintel
(208 x 70.5 x 7cm) x 4pcs (190 x 120 x 7cm) x 2pcs (190 x 88 x 7cm) x 2pcs (190 x 26.5 x 7cm) X 2pcs

Roof detail - parts

4.1 Skylight
(72.5 x 72.5 x 20cm) x 1pc

Hﬁmﬁm..’.ﬁ:.:.‘ e a0

4.2 Roof cap (small) 4.2 Roof cap (large) 4.3 Corner roof tile (left 4.3 Corner roof tile (right)
(83 x13.5 x 6cm) x 4pcs (103 x 13.5 x 6¢m) x 8pcs (66 x 7 x 3cm) x 4pcs (66 x 74 x 3cm) x 4pcs

B

4.4 Main roof tile (left) 4.4 Main roof tile (right) Bracket (60 x 8 x 3cm) x 4pcs
(152 x 109 x 3cm) x 4pcs (152 x 109 x 3cm) x 4pcs

Bracket (30.5 x 8 x 3cm) x 4pcs

14



£AD,
v

v . -
© z Fraser gazebo - Assembly instructions

Roof detail & support frame - parts

R R e ;
4.5-1 Skylight frame 4.5-2 (90.5 x 6 x 3cm) x 4pcs 4.5-3 (148 x 7 x 8cm) x 4pcs 4.5-4 (148 x 7 x 8cm) x 4pcs

(66.5 x 66.5 x 14cm) x 1pc

4.5-5 (199 x 7 x 8cm) x 4pcs 4.5-5 (152 x 6 x 3cm) x 8pcs 4,5-7 ‘Y’ Bracket x 4pcs 4.5-8 ‘Arrow’ bracket x 4pcs

‘T’ bracket x 4pcs Bracket x 4pcs

Bar counter construction - parts

6.1 Bar top 6.2 Bar leg 6.3 Bar angle support
(190 x 10.5x 31cm) x 1pc (96 x 26 x 7cm) x 2pcs (52.5x 3.5 x 7cm x 2pcs

15



v

o

sAD,

24 MONTH WARRANTY

Canadian Spa Company warrants this product to be free from
defects in workmanship and material, under normal use and
service conditions, for a Limited Lifetime Warranty.

This warranty extends only to the original purchaser.
Canadian Spa Company obligation under this warranty is
limited to replacing or repairing, at Canadian Spa Company
option, the product at one of its authorized service centers.

All products for which warranty claim is made must be
received by Canadian Spa Company at one of its authorized
service centers with all freight and other transportation charges
prepaid, accompanied by sufficient proof of purchase.

% Fraser gazebo - Assembly instructions

All returns must be pre-authorized by Canadian Spa Company.

This warranty does not extend to any product or damage to a
product caused by or attributable to freight damage, abuse,
misuse, improper or abnormal usage or repairs not provided
by a Canadian Spa Company authorized service center,
products used for commercial or rental purposes, or products
used as store display models.

No other warranty beyond that specifically set forth above is
authorized by Canadian Spa Company.

North America Office: US Office:

Canadian Spa Company Canadian Spa Company
3-3620B Laird Road 6848 Airport Rd
Mississauga, Ontario W Jordan Utah

Canada, L5L 6A9 84084

T. +1-877-347-7727
F: +1(905) 825 2513
www.canadianspacompany.ca

Germany Office:
Canadian Spa Company GmbH

T: +1 (801) 696-5677
www.canadianspacompany.com

France Office:
Canadian Spa Company sarl
2 rue de la Moudrerie

Lutzerathstrasse 127 27370 La Saussaye

51107 France

Koln T: +33 235 775 331

Germany www.canadianspacompany.fr

T: +49-2203-995580
www.canadian-whirlpools.de

weATE,

UK Office:

Canadian Spa Company

Canada House

Salbrook Road

Salfords, Redhill

Surrey, RH1 5GL, UK

T: +44 1293 824094

F: +44 1293 824750
www.canadianspacompany.co.uk

Dubai / Middle East Office
Canadian Spa Company

JAFZA 8, Office no.27

P. 0. Box 26455

Dubai, UAE

T: + 9714 - 8815223

F: + 9714 - 8815224
www.canadianspacompany.co.uk

RoHS

COMPLLANT

C €.

Canadian Spa Company meets ISO 9001 Standards

When you purchase a hot tub from Canadian Spa Company,
the ISO 9001 certification assures world class excellence in
manufacturing and customer service.

.

na

00/06/08

dianspacompany.com




